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PART -1 GENERAL KNOWLEDGE AND
TEACHING APTITUDE.
1. Teachers are countable to.... [ 1]

1. Students, Parents, Head-Teacher, School
Management, Community, Govt. authorities
. Head-Teacher, School Management,
Governement authorities
. Peoples representatives, Government
authorities, School Management
4. Head-Teacher, Students, Parents,Community
GarERyainen B8 aarenmrdEiorne Houed.
1. doegden, EDB0EeD, BSregang, FiTe
CSra2sieg0
2. BEErgrasne, rdTre diressedgo,
(080&] edseten
3. (©ePD8VGe, (B wpEthen, FbTw drakrlgo
4. Q.’Jtpvﬁsﬁt’m’?go‘dm», S)m"egtiq))e», BDBo(toen, Jrezo
. According to RTE Act, 2009, minimum number
of working hours per week for the teacher.[ ]
1. Thirty teaching hours excluding preperation
hours
2. Twenty four teaching hours excluding
preparation hours
3. Forty teaching hours including preparation
hours
4. Forty five teaching hours including
preparation hours
Do &8 5690-2009 ([FseB0 &armyandsd 708
895 HA5oeen.
1.35 Koten 05008 @dbo 2. 24 Kotre S5TESE J;ew
3.40 Koty S5O&® Jen 4. 45 Koty S05ES® eew
. Professional Ethics for teachers were
developed by. [ 1]
(%@"tr?go‘ﬁaaée)g K020088 Q0 Derotsderdd @9?‘;)26@@
5EY éoé
1. NCERT 2. NEPA 3. NCTE 4. CIET
. A scheme “Saaksar Bharat” was launched
on... [ ]
1. The International literacy day
2. The teacher’s day
3. The International teacher’s day
4. On the birth anniversary of Kamala Nehru
“PEE B8 HipeR HRENES 8.
1. 0oSTaH wgos B %)do

2. GFEEeD &Ssé‘\):éo
3. @oéoséoﬁ: GarEEgedh HFEBo
4. Eder J(Toe 30008 m@tﬁse‘%zﬁo

5. A good teacher plays which of the following
role [ 1]
1. councellor 2. facilitator

3. friend 4. all the above
2.8 0D GIPend ($od B TR0,
1. éavtgéq;é)é: 2. %"ééegég
3. er&S 4. 25
6. In the following, which host the 5th BRICS
Summitt? [ 1]

1. Durban 2. Washington 3. Paris 4. Mexico
55 (D5 dare H65) QB 228A0H?

L 853 2. a3oRel 3. 3OS 4. HE°
Which is the first state to make SC, ST
subplan as an act? [ 1
1. Maharastra 2. West Bengal

3. Andhra Pradesh 4. Kerala

SC, ST &d(Heard8d ﬁs%aﬁgo B &9 oo

1. KSR 2. H3y Borrd
3. wo|BNRSE 4. 88%

8. Present chief Election commissioner of
India [ 1]
1. Vinod Rai 2. V.S.Sampath
3. Y.V.Reddy 4. K.G.Bala Krishnan
(DS grdE AQBe (DGeTeHT0....
1. 96 oo 2. D.90.80H8
3. @.8).8(2 4. 8.8.270 @KB%S

Which political party got highest majority

of seats in the recent General Elections in
Pakistan? [ ]
1. Awami League 2. Pakistan peoples party
3. Pakistan muslim league (nawaz)

4. Tehreek Insaaf

2dHe FERSS® wbhS FBYBE dNESE
8BS Toerdd FBoDH 8.

1. ©a0dR 2. avéﬁvﬁ %@53 3*»6

3. P8P zﬁwcoo OR (:655%{57) 4. 3568 aa?\)o)

10. India rank in world Human Development
report - 2013. [ 1
BB SrETHHY Q368-2013&° 558 SRS
1.133 2.134 3.135 4.136




PART - Il (A) GENERAL ENGLISH
1M e man is mortal. [
(choose the right article to fill in the blank)
3. the
12. Find the wrongly spelt word from the

1. a 2.an 4. no article
following. [
1. restaurant 2. consultant
3. ignorant 4. non-violant
13. | shall take milk before | .....to bed. [
(choose the correct verb forms)
1. go 3. went
14.Rana was not qualified ..... the post. [
1. to 2. for 3. with 4. of

15. We got .....the bus and walked away. [

2. goes 4. will go

(choose the correct phrase verb)
2. out 3. off
16. She always makes mistakes. [

1. 0on 4. up
(the passive form of the above sentence is...)
1. Mistakes are always made by him
2. Mistakes always are made by him
3. Mistakes were always made by him
4. Mistakes always were made by him

17. Raju said, “My books are here”. [
(the sentence can be reported as)
1. Raju said that my books were here
2. Raju said that my books were there
3. Raju said that his books were there
4. Raju asked that his books were there

18. You find your uncle suffering from defective
eye sight. Which of the following suggestion
would you like to give him. [
1. you may wear glasses
2. why dont’ you wear glasses?
3. you can wear glasses
4. you wear glasses

19. Your friend has not been working hard at
her studies. Adivse her to study hard. [
1. you should work hard at your studies
2. you need work hard at your studies
3. you ought to work hard at your studies
4. you should not work hard at your studies

20. You will read this story, ....... ? [
1.isit 2.isntit
3. won'’t you 4. will n’t you

]

]

]

]

]

]

]

PART - Il (B) GENERAL TELUGU
21.(Homrolgs™ a8 BrE wlpdeayeR Mo ©rY
@éaéﬁl’egfbé DESBToen. ( )

1. eofregRod aegeen 2. DHoGen
3. (Hogd8ngen 4. FSGyen
22. 8)3%;:6 $0(BEH0ED 5(;330:‘1):6 Kol ( )
1. 1912 2.1923 3. 1901 4. 1906
23. &R B0 Ko 880 B? ( )

1. t%sm{fél’?_oe%‘sé d880o 2. Wo[PTPoDE F88o
3. g d&Lo 4, IS 80
24. WSS (HBFE0S® Got Keseen. C )
1. 3 208 Hegren- 10850 2. 2 [O(E Heseen - 13585 ea0
3. 2 1o(8 Hegren—-2 Sedgiiesen 4. 3085 esren - 180(E5Hea0
25. ‘é)fgﬁ"e)?;%oé’ 03 JopB T80 ©HPIBON oS
0. ¢ )

1. FBersHE00 2. $%30E
3. &50r0eri0i58(8 4. oSN Hsedso
26. gPKSB055 é&om@ AY? ( )
1. 18 2. 16 3. 14 4. 12
27. Jogrdo odre? ( )

1 Sdreroo 2. FPHErdo 3. wodereo 4. Ho&iho
28. gr&sedE wSrHE (Bahd &wrsdes. «C )
L gelodEo 2. grRoHd 3. Frlod 4. groB

29. S0HrBE0 SBROETHTO 2.8 K8 Do EHer?
o ©&mrde. TPASIDNY &°H oo Tk, 2089
3850. «C )
L Goms88 2 opds 3. odE 4. edond

30. ‘DHIVDE’ ©F EgrdSond S55? C )
1. Shedgsroeaden R 2. HB¥Edoro Hoden
3. £.9.%o(0ea50 4. 08t OTTD)

|31, “ctoemiysin 69 dhoth &) vErso. ()

1. B0grseasdrdiRd SGPEch 2. SSSENH

3. &8 4. DBBeaPEHES

32. WorStekn oo o $08? C )
L 5B %ok 2 rhedod 3. ISEI0H 4. HoBE

33. ‘Aoz’ Q.’Jée)é’é o008, ( )
1. DEH5w 2. 5 3. Dado 4. Des

34. ﬁ%ewtrg@éé 0. ( )
1. 13 2. 14 3. 15 4. 20

35. Dy, Baryy, Saxy, @Xp, &Ry 630 O woosso.( )
1 HEEErs 2. ©BITFE 3. GrHE 4. IESEEKO

36. r‘o’lgzéwaaéé B%O&. & %o 88, ( )
1L 355 2. a8 3. 39od 4. o=H
37. 8od QS SESoen. ( )

L =& 2. dMad  3.(o 4. e
38. ‘BiHBoE’ @ HLEH AHB6H? C )
1. DY @308 ERIG 2. @Bl
3. I 4. Hdpe dTTRSTE
39. ‘:bfg:é & SPOM T 30, ( )
1. BgTeeren 2. se8&0smen
3. TeohHezen 4. D83He esw
40. ©8engdsy Rk BRI, (G
L QB 2. 855 3. BY 4. I




L PART - Il {A) MATHEMATICS

1.0f the AM: and GM. of two numbers are 13 and
12 respectively, then the numbers are. [ ]
|l Bodh Hogge A M. bdin GM e St 13,12 wons
| ﬁo‘ﬁuq:ét;s;h...:.......? ......... s
" 1.16,18 = 2.8,18 31219 4.14 21
42 The area of the triangle formed by the mid points
| ofthe sides of the triangle whose vertices are (6, 1),
3S5and (1, 2)is. | ]

| (6,1,)(3,5) Sbdin (-1,-2) forgure Ko |Bebes ghadoe
|

I

oty Dofoidon DB Bidhes Ao,
| 1.37/8 2, 40/5 3. 38/4 4, 2718
43 If P : 1is the ratio of the roots of the equation
' (p+1)"

ax? +hu+c=0, then P —

ax? +bx+e=0 sluEtae Sy e D58 P 1 soud
(p+1) _

F
1. bHac 2. bva’c® 3 blac 4. @bt
acosf+hsind
.44' tan 6 =bla = acosf —hsingd — L]
| a+h a—h a+b gt =
_ B a—b Ca+h T at-b T a4 h
{45 The C.PU. unit of a computer does not consist
| of .. [
i 1, memaory unit 2. control unit
3. input unit 4, arithmetic & logical unit
Soimtabe® SoliDerd ariiod E06.
| 1 gh fea 2 oo S05to
3. mihspes Arisito 4. wolrds, orbE Dordo
P+l F+2 F43 +n
) JII:} I?: |: i I " : o ! iT — [ ]
1. 146 214 3. 173 4 1/2

d47.The perimeters of two similar triangles are 30 cm
and 20 cm respectivaly, If the length of one side
of the second triangle is 12 cm, the length of the
comesponding side of the first triangle

—_—

1. AB=@ = A= (or) B=
2.AB-Z=AcB 3A|UB=@ —=AcB
4. A||B=A B
50. 1251 is divided by
12701 & Bod =03 srhodedii.
1 11 2. 13 a 17 14
51. The x* co-efficient in the expansion of (3x+4)"

i [ ]

(3x+4)® DBt X Sk e,

1.6C,(12)* 2. 6C,(12)* 3. 6C,(12) 4. 6C(12)*
52. x, x,, 2x are the scores of a data. x, is greater

than x, but less than the double of x, the mean

and median are equal to &, then the scores

are ... [ 1

v domodod® X, X, 2% wodfines. X, Deodi X, Bom D8

50 X, & Do So Skps. wodine wolnpo,

fgrido 6 4 HEriNo wond 4 wodiow

4.

1.46,8 2.6812 3.6,10,12 4. 234
53 cosg-sing= 2 sing = cosg+sing=._. [ |
1. J2cosg 2, Jasing
3. 2cos g .sing 4 2sing

54, Contradiction amaong the following
statement is.... [ ]
Bob ot Do, ...,
1. -pa-9q 2.(p A ~q)=p
d~pvvi~pv ~q) 4{ps=~q)a{~pwva)
55.log3=047T1=logi5+log2=__ [ ]

58, The figure formed by joining the mid-points of

1. 1.4771 204771 3.4771 4
l :
56, Inverse ratio of 5;: EE = [ 1]
1 | |
51: 25 ol DEE D26,
1.63:28 2.28:36 3.368:28B 4. 28:863
57. (a-b,11)=(5,a+b}) = a= b= [ ]
1.38 2.8, -3 3.3 -8 4.8 3

Y- QTR [ 1| thesides of quadrilateralisa [ ]!
Both S (Gdbmine dDipfode Skre 30 Do do nE St ghadoe g Dothigui Subm
Zobain 20 Do.fe. Jofd Behed of ks Fod 12 D B, _
H0.50. wond Fedd [Bebed eiEs et Pol ... 1. square (S&tzo) 2. rectangle (Assessc)
Zo.fhedt 3. parallelogram (amods ﬁﬁ:ﬁ{l&mjh
L 1% 2 18 3.8 4, 16 4. Rhombus (58 Sy
’ 59, The volume of a sphere of radius
48 [x y]| ¢ l][x]= : [ ] o3 cmis__ome -
1 ally| — 6.3 cm = ﬂaﬂ-én fo Fido Qo) fssbirea,..cm?
Lo e | LlmEE 2hee
3. [alx®y¥)+2xy] 4, [a(xE-y)-2xy] ' ' ' '
A8 Which of the following statement is correct B0. 3f2x Y3=__ [ ]
& fob D& SHTS PSS, 1. Ja32 2 g 3893 4 YaE
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G1. The atoms of different elements of same

=

PART - Il {(B) PHYSICAL SCIENCE

number of neutrons and different numbers of

]

protons are.. [
1. Isotopes 2. lsobars
3. Isotones 4. Positron

a8 ::.:g»za_mu Howy, Sbdin Tt @rie oy Ko

D06 Al SESEmen. ..

1. esFiisen 2 ofborle 3 ofdhfSen 4. 2vdpel
62 Tha maximum temperature of a place is 122°F
[
et S840 reg adhiad 122°F wond 2Eeeh T
2.50°C 3.48°C 4. 42°C

63. The main component in producer gas is..[

]

then its value in calcius scale is..

1. 45°C
]
1. Hydrogen 2. Carbondioxide
3. Nitrogen 4. Carbon Monoxide
ErEireiE arcindddtn Snagidd araing.

2. seSEnnE

4 =S 2Tt

1. 3r|Efesf
3. B5tas
64. The relative density of Iron sphere is 8 and
it weight 20 gm in air then weight of Iron sphere
[ 1
28 widfito by rogd 8 Db mbE* ol o

in water is...

20 ren apcnd HA* minarivo add
1.15gm 2 18gm 3. 17.5gm 4. 225gm
[

1. godium silicate, calcium carbonate and sand

B5. Glass is a mixture of.

2. sodium carbonate, calcium silicate and sand

3. calcium silicate, calcium aluminate and

gypsum

4. zodium silicate, calcium siicate and sand

*

e wEB DA Dojdsoo

1. Ao MOEL, sEde R Gbdn s

66, The atomic number of elements A.B.C and D

2. Pdbo EAS, hphe BT Lbdh whd
3. sfbo BESks, PUhe wergieil fadn B0

4. Blco HDFks, PO BB bt Sl

are B, 11, 12, 17 respectively then formulaes of
[ 1
A.B,C moauD ¢ fmese S8irmboyges SGHm
811, 12, 17 wond wdirdy Sorge iy
1.AB, B,C,AD 2 CA CD,BD

3. A,B, CD, B,

87. In an ideal transformer, the number of turmings

ionic compounds are

4.AC, BC, AD

in primary and secondary coils are 100 and 300,
If the current in primary is 2 A, then the

[ ]
28 @i riirgBe’ 2ind, T Sgmod™n B ditge
Hogg 100, 300, |SrEded dhmine®l Doph @aviro 2

current in secondary coil is...

wobdih word Te dHmod®D DHps Davdro,
1. 6amp 2.0.66amp 3. 1/6amp 4. 1.5 amp

68.Correct order for electron affinity of

helogens is....

frefule Jogl s2088 Bomofod HEF Edo
L F<(f<Br=l 2l Fafraf
LF>cl>Br=] 4ol =F=@r=]
62.The phase difference between the two

[

Hekaid Gstnod” Dotk ddorre S5y EhEg .

[l 31

1. T1 " E-.T

70.Brownring test is useful to detect the

]

waves in constructive interference is.

4,0

[ ]
1. Mitrites 2. Mitrates 3. Sulphates 4. Aldehyde

presence of........

5 Sedh 5450 S St BosaRa

ADEPAZRLD.

=
=l

1 f|s 2 3. HE

B4

|

|




PART - il (C) BIOLOGICAL SCIENCE
71. The reptrure follicle reffered as [ ]
1. Lutium 2. Carpus lutium
3. secret tissue 4. spermathacae
SADD (TPRHOHR DB Ber HenIJeLD.
1. eoeddsn 2. 80 erdobo
3. B Eog 4. ©o&3E
72.The numbers of carbons present in citric acid,

which was release in citric acid cycle. [ 1]
DBE @il SocHod® DEE d@seos® Ko s8R0 Sogy
1.6 2.4 3.3 4.8

73. Nissal granuals formed with following. [ ]
DS Eedsen Hast ISloNntaLloWE
1. RNA+ Protien 2. DNA + Protien

3. RNA + DNA 4. DNA + Fat

74. The incorrect form of AbuBakker explained
disease [ ]
1. Red dots 2. Caused by paramixo virus

3. Rubiola 4. Caused by mixovirus perotidise
arndd $oDS 568 $02050DS E0 K.

L QB oo 2. 3D 8T Sg Seorhio

3. &rd&roe 4. 28385 1ER8R Sgy Benidid
75. The place of central rice research institute. [ ]

1. Luckno 2. Pune

3. Nagpur 4. Cuttack

0®S BT 88) BIQEES Ko (K&go
1 o8h 2. P83 3. hyrE 4. Bef
76. The bitter taste recieptory located in tongue[ ]
1. back 2.lateral 3.front 4. central
B (eseseen TrendEt Ko (HBFo
1. I8 2. 3°6fgsep“n°en 3. oot 4. gy
77. Downey Mildew disease caused by. [ ]
1. fungi 2. bacteria 3. virus 4. insect
B S &) B B Hgy Lenidi.
1. 8dolo 2. amsBBair 3. B 4. &wso
78. In Amoeba, the related expressionis.. [ ]
1. nefrons 2. malfigians tubules
3. diffussion 4. osmosis
o doers® X)égzéén 502000DI8.
L Hsmen 2. 263@)3&0335 TP8en 3. 500 4. DIBea
79. The related sentence of energy pyramid is[ ]
1. From bottom to top, energy decrease
2. From bottom to top, energy increase
3. From bottom to top, number of organism
increase

4. Energy pyramid is reversely arranged.
#8 DEMED D020 g0 IBHG.
1. 0% Hod 28 N Fod 48 SH
2. @XIH LoD B B Fod I8 1D
3. ©iH $Hod 28 Bdb Fobd dHe Jogy 1HIHK
4. 38 HEE So [Bothenre Hoenod.
80. The depth of Benthic region is
BoBE Koo ...
1. 200-2,000 KM 2.200-2,000 M
3. 2,000-6,000 M 4. 20,000-60,000 M
PART - lll (D) SOCIAL STUDIES
81. Chairman of constituent assembly. [ ]
1. Jawaharlal Nehru 2. B.R.Ambedkar
3. Gandhiji 4. Rajendra Prasad
Teeg0l HORKDH BES
1. 2d5berS e 2. 8. w8 005
3. mobd 4. o°BoBHFE
82. Whose were not appointed by the
president. [ ]
1. Governers of the state
2. Ambassadors of other contries in our country
3. Chiefs of the three forces
4. Election commissioners
DT dErBo TR T8,
L ool 598 2. &0 Bos® DTBoradhertien
3. sy BeHHBH 4. JOES BB
83. The date and year in which the universal
declaration of Human Rights was adopted
by the United Nations. [ ]
DEgR) S8 BN (DB 2BNI6.
1.19450ct 24 2. 1947 Aug 14
3.1948 Dec 10 4. 1950 Jan 26
84.IPS means. [ 1]
IPS &dre
1. Indian penal court service
2. Indian police service
3. Indian public service
4. Indian petrolium service
85. Production of goods and services should be
under the state is called. [ 1]
1. socialism 2. captalism
3. communisum 4. none of above
6EBJGren Trago whSos® Hod @A
ND0ET

1. Jogaeiso 2. Raé%gaa&w’é Qgedo




86.

87.

88.

89.

90.

91.

92.

93.

3. Eomgdaso 4. ddseen

Who introduced subsidiary alliance. [ ]
1. Warren Hesting 2. Cornwallis

3. Velleseley 4. William Bantinck
g dseE g)cgé'a:’o @3%3;&%26@&3.

1. TPESEEROR 2. =885 9%

3. 3ud 4. 2O0H% BoBoE

Who gave this slogan “Inquilab Zindabad™[ ]
1. Balagangadhar Thilak 2. Gandhiji

3. Bhagath Singh 4. Nehru

DHH0 zﬁge;:&) (2087 Bowrerd) ol ASBH0D[8TD

1. eroforrds o8 2. mrobd

3. K58 2ok 4. I

First Pope. [ 1]
1. St.Peter 2. St.John 3. St.Paw 4. St.Lonie
&0 D

1. 2owods $He8 2. 200085 ePS

3. 200085 PR 4. 200085 e

The school started by plato. [ ]
1. Republic 2. Academy

3. Mantissori 4. Little Flower

apes® oD Ko

1. 888 2. o5

3. Srod%Ho 4. OBS $HHG

Assembly of Russia. [ |
1. Dynma 2. DIET 3. Parliament 4. Rixdog
82k ©08)

L Srgle 2. 865 3. P00 4. B8R
The length of coast-line in Andhra Pradesh
is [ ]
0o(BHEES® H5Bp FED).

1.972 km 2.927 km 3. 729 km 4.792 km
Twin cities are. [ 1]
1. Annavaram, Gannavaram

2. Adilabad, Nizamabad

3. Hyderabad, Secunderabad

4. All above

22060507 ©Q DB e

1. ©9)B8o, KHHbo 2. whererd, Derkrard
3. risoers, d8omrerd 4. I

The sugar industry in our state was
established in. [ 1]
0BT HBEHH woBHRES @;330:‘1)26 doul.
1.1928 2.1993 3.1921 4.1915

94. Kakinada port is in the district of [ ]
1. East Godavari 2. West Godavari
3. Krishna 4. Guntur
8 S50 S8 Rere® Sorth.
1 Er&nfmrsd 2. DB Kwesd
3. 5% 4. H0erd
95. District with lowest population in our state.|

1. Nizamabad 2. Anantapur
3. Medak 4. Mahaboob Nagar
0% TolRoS® B eTrerto Ber.
1. Qeplrerd 2. ®So8HBo
3. &8 4. S dnd
96. Fishing and Mining belong to [ 1]
1. Primary sector 2. Secondary sector
3. Tertiary sector 4. all above
B OHELD HBakn Kden D Botsd Sapaw
1. (S Boiso 2. &g@o‘ﬁ; fefelate}
3. e‘%éoﬁ) Borfo 4. 23
97. Joint stock company derives its capital by[ ]
1. Shares 2. Banks 3. Foreign Investments
4. Companies Investments
2P0N0ET 3;5 0o seHeds Smroldo

&9 WO SPOEHTE.

1. aeeren 2. er5oen
| 3. B3 'zb&gaac‘é)en 4. 50d 'zbé.gaac‘foen
| 98. Price of a product is determined by. [ ]
1. Producers and consumers
2. Producers and Government
3. consumers and Government
4. Brokers and Consumers
0D B c‘{)gcmo:ﬁ)mé:.
1. &6&)Brrden Bk DIErTEen
2. 6&Brrden 0O (HgHEi0
3. QAReriTrden O (dghEo
4. 5580 LB DITHTEIen
Factors of production give us the [ 1]
1. land 2. capital 3. investment 4. production
658 8L TRT® FPoHIB.
1. & 2. Sresdo 3. 'zbé%gaa& 4. 658
100. Corporate taxes come under _taxation.[ ]

99.

1. a direct tax 2. an indirect tax
3. sales tax 4. property tax
@8‘33%5 DY) 82 8o8% S5y,

1. (8 D) 2. Kassg DXy

3. O/ED XY 4. WDy

]
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